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A separate OMR answer sheet with carbon impression Is provided to all the candidates for answering. On completion of
the test tear the OMR Answer sheet along the perforation mark at the top and handover the original OMR answer sheet to
the invigilator and retain this duplicate copy with you.
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Each objective question is provided with a text andfor figures wherever applicable with multiple answer choices (a), (b},
{c) and {d}. Only cne of them is correct.
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T, . 92 / Question | 3c aheT
Q.No Answer Options
- Lo e wlie R g W ured e o iR f e (a) wsfeiar / Puddling

The process of obtaining pig iron from iron ore is called

(b) ¥ATSET / Smelting
(c) MeRTor/ Prickling
(d) senf&eer / Blasting

U fawmew & #a & 51 ugrd #r ggER ?

Identify the heaviest material in the given options?

(a) Fgd FEIIT
Mild steel
(b) Hﬂﬁﬁmﬁ

Aluminium
(c) genfies
Plastic
(d) ==
Lead

SR el STEHT Y FIOT FT g § Al ol oommeen 2|
As the rake angle of the cutting tool reduces, its strength
L1 | [ ——— _

(a) sreamr
Increases
(b) & g
Reduces
(c) T T HIg T Ll
No affect on the strength
(d) 35 =g FET

None of these

(a) 9 CoATiEeH coTlec®d
Thermo plastic plastic
(b) e /T ToniEes
Thermo setting plastic
(c) dltg e T
Non ferrous metal
(d) ¥ arg

Ferrous metal

o T et swe [ o For o gt axar B
What is an angle ‘@’ represents in the cutting tool figure
given below?

(a) To=rr ioT
Clearance angle
(b) & o
Rake angle
(¢) a5 HyoT
Wedge angle
(d) 55 FI5 =7

None of these
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6. | & N FT B % g A Tg SAET - TAI | () Hgel / Softer
As the % of carbon increases in fron, it becomes mote - ®) / Hardelr
(¢) v / Ductile
_________ (d) gereret / Tougher
7. ﬁmmﬁﬁaﬁwww%? (a) 90.9%
What is the purity level of wrought iron? (b) 95.9%
' (c) 99.9%
(d) 93.9%
8. |fw gewr o & A RT F R@w v AER &t By & | (a) 25
& T gdT # gar | (b) 20
Find out the distance between the two holes in a plate as 45
per the hole table shown in the below figure, ()
_ HOLE TARLE: (d) 15
9 2| |HoENO| X | Y
. 1 5 5
Y 2 25 20
(U'D) X
9. | afae el Fl--mmmmem gar garfed gl (a) Tega it
Pneumatic drill is operated by -------- Electric power
(b) §fa arg ufed
Compressed air energy
(c) STESeT
Muscle power
(d) grereterd At
Hydraulic energy
10, |2y M & 47 1 AR SAIT S ke 3UERL & | (a) 9537 / Bed
gFsey R ToeT 1 BT F 3qe HAT &l (b) e Tl / Head stock
Name the part of a lathe machine, that provides the | (¢) ager / Carriage
method of holding and moving the cutting tool, (d) ¥ser T / Tail stock
11, | 3oy REaRoT # = Tad quis g gard F § @ g7 (2) g 3T/ Mild-steel

Pick the material which has the least coefficient of

| thermal expansion,

(b) 3egAITA/ Aluminium
(c) 3=a¥ / Invar
(d) TrsefA / Titanium
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12. 1 & Ru Ry & ¢ud Rt &7 oier =amg F97 ¥ 2 (a) 10
What is the smaller diameter of a tapered pin shown in (b) 18
below figure? () 12
(d) 16
3. | 3ueat &1 7 A Gwd @@ wl WE A osonr K| (a) EISTREd 3T
e & v 3edee veae garr Ry s 2 Hoisting tool
Name the tool, which is used to lift or move heavy loads | (b) T |
by leverage atfect. Crow bar
(c) wF v
Fork lift
(d) SAT=RT 39Tt
Broaching tool
14. mw@ﬁwﬁ%wmwmﬁmwmw (a) Sy Icafola aehfar
FOgieT R ST g Electro Discharge machining
Pick the non-comventional machining method; it uses | (b) SeiFer TT™T FAF
reverse metal plating process. Electro Chemical Machining
(c) TsreT wfifear
Ultra Sonic Machining
(d) FolFgr cadar
Electroplating
I5. W@ﬁﬁrmﬁmﬁwmﬁraﬁaﬁ -------- (a) FUIE / Cathode
. (b) TAlE / Anode
& 9 H I FRAT ST & -
& (c) so1og1Z / Electrode
In a electroplating process, the item to be coated is used | (d) se7f & FE =8t /
A8 —mermem e None of these
16. | fv| malifer wftrar o, o AR & ugrd @t foyeron | (a) amAr/ Lapping
ST §7 | (b) i / Milling
In which machining process, large amount of material is ) .
removed? (c) 81far / Honing

(d) sfther / Buffing
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fhe &7 =19 g S@d ave # F F oamHs ¥ o

17. (a) TRV =T v fhe
efiael fopam Siiar &1 o9 o & 98 o &7 fise & ov e Press fit by expansion
FAY & AT B UA B & T g st ¢ | (b) s #ogw fhe
Name the fit, in which the shaft is cooled below the room | Press fit by shrinking
temperature until it fits into the hole, then assembly is | (¢) sa=iferd 99 fohe
allowed to attain room temperature. Hydraulic press fit
(d) FET PiS TG
None of these
18. | R R # @ Iew o3 F 9% L A A5 = | (a) FhEF g
Compressive force
g, o W ¥ I HAp - & el gl (b) oo e
If a rod is bent into curved shape as shown in below - Tensile force
figure, then the top most layer is subjected to —------- © m a—a
Twisting force
/ ? (d) FE e 78T
No force
19. | of g wigs Jga= ? (a) Hfoed 3§ Howhe
. . . Calcium Di Sulfide
Identify a solid lubricant? (b) AAeTRTT 5 GEHT
Molybdenum Di Sulfide
(c) MERT 5 Fothe
Potassium Di Sulfide
(@) TETH 3 Tohe
Sodium Di Sulfide
20. | 3wy T2 99 & fg (L) 3R Ra P)F da Fr wsw 2 | (@) L=P
What is the relation between the lead (L) and pitch (P) of (b) L=4P
a two start thread screw? (c)L=2P
' (d) L=1P
21. | off 2 e fr iy 1 9o 39 § o B $r i - | (a) 3% / High

mem BlAT TIRT
If the strength of material to be drilled is high, the drill
speed should be --------=--=---

(b) 7T / Low
OEGREIG FR Tt g
Speed will not deﬁend on
strength

(d) 39T F15 AL / None of

these
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22. | 3R HRAR & 39 AT The wEl @ afthR w&a ov | (2) 0.02
40 X g ¥ A9 T o, mm F oS sEer (b) 0.01
TYAAH 0T (T ) FAT 82 (FET Fhel HeT=Imm ) (©) 0.025
In a vernier caliper 39 main scale divisions are divided
into 40 equal points on the vernier scale. Then what is its | (4) 0.03
least count (LC) in mm? (take the value of main scale
division =lmm}
23. | FisEr Y @ M ST &2 (a) & / Shoulder
Which is not the part of a file? (b) TS / Heel
' (c) ®Ter / Ferrule
(d) %< / Barrel
24 | B S F1 Rwg T B g Oa e A aAR 8 | (@) 457
3UgFD | (b) 100°
What is the point angle of prick punch which is used for (©) 75°
making light punch marks?
@30°
25. | v AR = e (2) 0.001
One micron = —=-eememnmee- cm (b) 0.0001
{c)0.01
(d} 0.00001
26. FAA Toar F (AT Fiee R F @ 395 | (2) Ao Aa
HIGGED ‘ _ Soluble oil
What is the coolant used for machining cast iron? (b) TareT Ty
Chemical Solution
(c) @lST O
Mineral oil
(d) <frcrer =Ter
No coolant
27. | SelifeeRy goler 3Hd —oommee &anr foafgse (a) 3TRIAsT / Volume
The engineer’s hammer is specified by itg ----—-- (b) &Sl & TS
Length of handle

[ (d) 7T / Material

(c) | / Weight
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28. | fafelr oy 44 mv/min 3R fBe &1 =9 20 mm & fAw | (2) 350
fRgga RPM &1 7101 i) (b) 1400
Calcullate the spinc.ile RPM for drilling speed of 44 m/min (©) 500
and diameter of drill 20mm,
(d) 700
29. | R A= (IS) Yol & 3TAN U f3er f9e & 9.5~ | (a) W& v
H-IS5101-HS, veafaa &1 50 # d=ar 9.5 &7 7 HY Rake angle
gl - . (a) f5a foe ofars
As per the Indian standard (IS) system, a drill bit is Drill bit length
designated as 9.5-H-IS5101-HS, in this the number 9.5 | (¢) Tedser warg
stands for -=----==rmr-r--- Spindle diameter
(d) fowr
Drill diameter
30. | & ow ows ft BEE F O 39T (a) Whel @es / Single cut
The file used for filing leather i§ ----mnvnm-- (b) g7AT @esT / Double cut
(c) TRT HE / Rasp cut
(d) <er Fress / Curved cut
31. |\ T AR O & 3eMg (25%7 -4), % I A= (5x-2) | (@) (5x-2)
ar BT 9l St . . (b) (5x+2)
g;efgidr}lgte r(:ff lt];K(inBq?ualltltieS Aand B is 255" —4), If A; (©) (4x—2)
L (dy(4x+2)
32. | =iford [ WX a1g @RT W9NC 90T SO AT - F8d 87 | (a) B9 / Pressure
The friction force exerted by air on a moving body is | (b) a&fieaT / Drag
called ~-------ems | (¢) 38 / Lift
(d) 3cvei@sar / Buoyancy
33, | wefer swperer fmwmael # Al @ R oo ) (a) S RIS wRer
foerar ¥ gy F i oot 7 foReRar & §ew 7 ad Daily lubricate
g R wiafam & | (b) woAfe FEwar -
In a machine maintenance manual, regarding the | Weekly lubricate
frequency of lubricating the machine, square symbol | (c) HITGF FAFAT FLAT
represents --------------- Monthly lubricate

| (d) =rides e FRar

Yearly lubricate
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34.

T Mol YA g F1 REeH 79 F1/3 4 e &
ol¢ g gare av| W Brae g sEIT ST T B

A spherical aluminium ball is melted and made into
smaller balls of 1/3 4 radius of original one. Then how
many such balls can be made?

(a) 27
®9

(c) 18
(d)12

35.

8mm Wd & o ¥ ha 4 mm @ed A F Fer o

Herdl §7
How many cubes of 4mm side can be cut from cube of
side 8mm?

(2) 8
(b) 4
(©)6
() 12

36.

3 gedhR OF TS a7 ¥ @9 W ¥ oo 36w
Where is the centre of gravity (CG) of right circular cone
of height ‘h’ from the base?

(2) b2
(b) h/4
(c) b/3
(d) 2h/3

37.

TG FEIT B T ASYEH F4T §?

What is the Young’s modulus of mild steel?

(2) 21 X 10° N/’
(b) 210 X 10° Nm*
(c) 70 X 10° N/m?
(d) 7 X 10° N/m?

38.

TH 63 AR & famuig o am Giw ot R urg @
BHAM 4:3:2 F I A AT T4 o 5H Faarg d &
TEF TG F W A G AR (kg) B T

An alloy of weight 63kg is made-up of Copper, Zinc, and
Tin metals by mixing in the ratio of 4:3:2 respectively.

Then pick the correct weights (kg) of each metal in this
alloy in a same order?

(a) 32, 24, 7
(b) 29, 22,12
(c) 28, 21, 14
(d) 26, 20,17

39.

75 m’ A & o1 T MR 150 gm ¥ ST 41g F 300
m’ HEA & HR I

Weight of 75 m® volume of metal is 150 gm. Then find
the weight of 300 m® volume of same metal,

(a) 300 gm
(b) 900 gm
(c) 500 gm
(d) 600 gm
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40. | v TR F OR F 300 N &7 9 § rwdr aredafds «arg | (2) 20 N-m
15 JAT §, & GO T N el SEe? (b) 90 N-m
A force of 300N is applied at the end of spanner, whose (c) 45 N-m
effective length is 15cm. Then find the torque applied?
{(d) [1.25 N-m
41 99 @ A gf @ 3W) Hdg S & "iewehe Ukid @ (a) %¢ / Root
|1 e oy — Fgd &l (b) weler / Flank
In a screw thread, the top surface joining two adjacent (c) see / Crest
sides of thread is called --------- (d) % / Throat
42. [ww MI2X15 & weEd (@ee) 31 a8 & fav. s | (2) 11.85 mm
AT (WS} ST F1 87 ‘ | (51215 mm
What is the blank size (diameter) for preparing a bolt of
M12X].57 (c) 11.5 mm
(d) 123 mm
43. | fog 3t emee &7 degar & wfalifcg oar 9 &% [©F 7 | (a) R / Clearance
e arar &, o 59 e Al e FEd Tl (b) =afasor / Interference
If tolerance of hole and shaft represented as shown in | (¢) uR@der / Transition
below figure, then this fit is called —--- . .
’ (d) 58 P
E L dsHrT None of these
\ SHOLE
44. | v vww Mo o g fB3feer AR wfa seefa @ foewee | () e e
FTAT PT —mmmmmmm Fed Bl Centre drill
A single tool which performs the combined operation of | (b) fawdier @afa
drilling and counter sinking is called --------- Counter sink
(c) fada 3
Counter bore
(d) el
Tap
45. | 60" 45 =1 it B (a) 60.75°
The angle 60° 45’ = cmrmmmmnnmev (b) 60.5°
(c) 60.25°
(d) 60.6°
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46. | Ragw, Tl F URUT #WA ¢ FE dwS w1 39T @B | (a) e REsT
el &7 Pipe vice
Which vice is used for holding rivets, keys? (b) BT T
. Hand vice
(ORECRECT
Pin vice
(d) § R¥haTr
Bench vice
A7, | wEgar o # e R &% AR X 3 & (2) 3R BT Hftwan @
gfafa®r s2ar gl Maximum limit of size
In a tolerance system, as per the below figure, the | (b) 3T = =gaAdH AT
dimension "x’ represents ---------- Minimum limit of size
() =1 =afawA
EKEV L7777 77773 N ' Lower deviation
. (d) 39 cafawA
2 Upper deviation
O
48. | alvR dge WgaeT HT ~gHAdH I § o (a) 10°
' The least count of vernier bevel protractor is --------- O
()5
(d)2’
49, TE ®en AR ae WEIIAT WONST # ©IE 3R AW | (a) % / Hole
ST —--mmm- 3ifrd Fear § (b) eme / Shaft
In a hole and shafi tolerance system, small letter indicates | (c) gt fw 3k amee
fundamental deviation of =--ueeeev Both hole and shaft
(d) 38 g &
None of these
S0. 1 & Y oHr e g A A Y RY & 7AT § A (a) 957 wFw
________ FEY B ' Major diameter
The diameter of the thread, at which the thread thickness | (b) = =ar@
equal to half of the pitch is called ----------- Pitch diameter
(c) g =

Minor diameter
(d) 7T (3) =ug
Shank diameter
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51, | ey - vfafeelsr 3 doswr & cfafefow fafeis @ anf (a) @el / Red
FS FAT 87 [ (b) A& / Maroon
What is the colour code of acetylene cylinder in oxy- (c) & / Green
ing?
acetylene gas welding? (d) T / Black
52. | vw wrEe udor do o a7 & 3R e 10 (a) 220 cm’
‘ 2
WA § F e TAT &% F gl o] (b) 110 em
, (c) 440 cm®
Find out the outer surface area of hollow thin cylinder, 5
(d) 70 cm
whose diameter is 7 cm and length is 10 cm?
53, | 104°F = f3ef ofcowa # scor (@ 40°C
. 0~ -
Convert 104°F into Degree Celsius, (b)30°C
(c)23°C
(d)50° C
54. | o7 i el & 99 HEe GAE W IUgEd 9ard Sit | (a) U / Bpoxy
Few div, Hifady 3 Taee wiafear &1 ufatiy a=ar §1 | (b) ®=rer / Char coal
The material used in furnace wall as a inner most layer, to | (c¢) 3r9ad® / Refractory
z‘cesist high temperatures, physical and chemical reactions (d) FXef¥er / Nitrading
is called ~--------
55. | LPG & foeeor §7 () SfFgs drwige I
, Liquid Profile Gas
What is the full form of LPG? (b) AfFawes defeea |
Liquefied Petroleum Gas
(c) hfeFas 1R 919
Liquid Pressure Gas
(d) & 9 AT
Low Pressure Gas
56. | freeic 358 1 JosaT Mg ¥ ? (@ D
What is the welding symbol for fillet weld? (b) M1
© v
(@ 1l
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What is the welding rod used for welding aluminium
plates?

57, | e g o] & TRAR S A1s W eed w0 A b & | (a) AT / Notching
________ — (b) ?ﬁ?ﬂ‘ﬂ / Hem?ning
(c) oot / Punching
The process of stiffening edge of sheet metal article by - (d) &= / Snipping
folding is called --------- -
S8. | wifeler afsear Tl o7t i 18 7 @l § 3N epwey (a) 39AEEIT /- Upsetting
FIC AT BT § Pl -mvmeeee wed 8 (b) 35T 33T / Drawing out
The forging process in which, the length of forge reduces (c) ST / Shortening
| and cross section increases is called ---------- (@) BT / Drifting
59. | T (T 3T 1 giAe? (a) kg/em”
What is the unit of Torque? (b) Kgfem
(c) Kg—m
(d) gm/cc
60. | JrpAlfera woie & desd & fAv FiT W Jead o 3UgFT? | (a) 3TT F sEAA

High carbon steel
(b) T - =Y T8 e

Copper-silver alloy
() Y& Jrepiferas

Pure aluminium
(d) =reg

Bronze
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